

February 9, 2024

Ms. Leah Juarez, Mayor

CASPER

200 PRONGHORN CASPER, WY 82601 P: 307-266-2524

704 4th St. Mills, Wyoming 82644

RE: City of Mills-Riverfront Stabilization, Project, Award Recommendations

Mayor Juarez:

City of Mills

On February 8, 2024, eight bids were received from 71 Const., Andreen-Hunt Const., Grizzly Excavating & Const., Oftedal Const., Wurx, Barnum Const. and BruTill Const. on the above referenced project. All these bids were complete and responsive. The bid from Oftedal did contain one small mathematical error, but didn't effect the outcome of the bids.

Attached is a copy of the bid tabulation summary for your review. We recommend awarding to BruTill Const. for this project for the bid amount of \$255,114.00. Enclosed with this letter is a *Notice of Award*. Please sign and let me know when it is ready to pick up.

Please contact me with any questions.

ant Will

Sincerely,

WLC Engineering, Surveying, and Planning

Matt Williams, P.E.

Project Manager

BID TABULATION 2/8/24 MILLS RIVERFRONT STABILIZATION

						,	Andre	en-Hunt		Bru	Till	G	Grizzly	W	CCI	
ITEM	UNIT	ESTIMATED QUANTITY	UNI	T COST	TOTAL COST	UNIT CO	ST	TOTAL COST	UNIT C	OST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST		TOTAL COST
MOBILIZATION	LS	1	\$	30,000.00 \$	30,000.00	\$ 30,000	0.00	\$ 30,000.00	\$ 19,	550.00	\$ 19,550.00	\$ 29,000.00	\$ 29,000.00	\$ 26,251.00	\$	26,251.00
FORCE ACCOUNT	FA	1	\$	10,000.00 \$	10,000.00	\$ 10,000	0.00	\$ 10,000.00	\$ 10,	00.000	\$ 10,000.00	\$ 10,000.00	\$ 10,000.00	\$ 10,000.00	\$	10,000.00
SITE GRADING	LS	1	\$	75,000.00 \$	75,000.00	\$ 48,000	0.00	\$ 48,000.00	\$ 36,	325.00	\$ 36,325.00	\$ 37,925.00	\$ 37,925.00	\$ 42,000.00	\$	42,000.00
SUBGRADE PREPARATION	SY	3100	\$	10.00 \$	31,000.00	\$ 5	5.00	\$ 15,500.00	\$	2.70	\$ 8,370.00	\$ 5.48	\$ 16,988.00	\$ 5.00	\$	15,500.00
STONE RIP RAP	SY	2700	\$	50.00 \$	135,000.00	\$ 44	4.00	\$ 118,800.00	\$	33.95	\$ 91,665.00	\$ 45.70	\$ 123,390.00	\$ 56.00	\$	151,200.00
BLOCK WALL	LF	464	\$	120.00 \$	55,680.00	\$ 120	0.00	\$ 55,680.00	\$	70.75	\$ 32,828.00	\$ 195.00	\$ 90,480.00	\$ 150.00	\$	69,600.00
4" PCCP PAVING	SY	204	\$	150.00 \$	30,600.00	\$ 175	5.00	\$ 35,700.00	\$	85.00	\$ 17,340.00	\$ 105.00	\$ 21,420.00	\$ 109.00	\$	22,236.00
6" GRADING W BASE	SY	320	\$	15.00 \$	4,800.00	\$ 16	6.00	\$ 5,120.00	\$	31.05	\$ 9,936.00	\$ 63.30	\$ 20,256.00	\$ 21.00	\$	6,720.00
GEOTEXTILE FABRIC	SY	2700	\$	10.00 \$	27,000.00	\$ 3	3.00	\$ 8,100.00	\$	3.00	\$ 8,100.00	\$ 2.90	\$ 7,830.00	\$ 5.00	\$	13,500.00
TEMPORARY EROSION CONTROL	LS	1	\$	1,000.00 \$	1,000.00	\$ 6,000	0.00	\$ 6,000.00	\$ 11	160.00	\$ 11,160.00	\$ 11,020.00	\$ 11,020.00	\$ 22,000.00	\$	22,000.00
SEEDING	AC	1	\$	5,000.00 \$	5,000.00	\$ 7,000	0.00	\$ 7,000.00	\$ 9,	840.00	\$ 9,840.00	\$ 2,990.00	\$ 2,990.00	\$ 13,300.00	\$	13,300.00
				\$	405,080.00			\$ 339,900.00	<u>[</u>		\$ 255,114.00		\$ 371,299.00		\$	392,307.00

			-	71 Const		С			I	Wurx				Barnum				
ITEM UNIT ESTIMATED QUANTITY			UNIT COST		TOTAL COST		UNIT COST		TOTAL COST		UNIT COST		OTAL COST	UNIT COST			TOTAL COST	
LS	1	\$	23,400.00	\$	23,400.00	\$ 80	0,000.00	\$	80,000.00	\$	36,000.00	\$	36,000.00	\$	30,000.00	\$	30,000.00	
FA	1	\$	10,000.00	\$	10,000.00	\$ 10	0,000.00	\$	10,000.00	\$	10,000.00	\$	10,000.00	\$	10,000.00	\$	10,000.00	
LS	1	\$	72,400.00	\$	72,400.00	\$ 63	3,000.00	\$	63,000.00	\$	30,000.00	\$	30,000.00	\$	75,000.00	\$	75,000.00	
SY	3100	\$	4.30	\$	13,330.00	\$	8.00	\$	24,800.00	\$	9.00	\$	27,900.00	\$	4.00	\$	12,400.00	
SY	2700	\$	62.50	\$	168,750.00	\$	45.00	\$	121,500.00	\$	74.00	\$	199,800.00	\$	48.00	\$	129,600.00	
LF	464	\$	109.00	\$	50,576.00	\$	86.00	\$	39,904.00	\$	60.00	\$	27,840.00	\$	90.00	\$	41,760.00	
SY	204	\$	116.00	\$	23,664.00	\$	105.00	\$	21,420.00	\$	80.00	\$	16,320.00	\$	100.00	\$	20,400.00	
SY	320	\$	32.00	\$	10,240.00	\$	90.00	\$	28,800.00	\$	20.00	\$	6,400.00	\$	18.50	\$	5,920.00	
SY	2700	\$	3.50	\$	9,450.00	\$	4.50	\$	12,150.00	\$	3.00	\$	8,100.00	\$	4.00	\$	10,800.00	
LS	1	\$	11,500.00	\$	11,500.00	\$	9,000.00	\$	9,000.00	\$	2,800.00	\$	2,800.00	\$	5,000.00	\$	5,000.00	
AC	1	\$	4,700.00	\$	4,700.00	\$ 3	3,900.00	\$	3,900.00	\$	3,200.00	\$	3,200.00	\$	2,500.00	\$	2,500.00	
		-	·	\$	398,010.00			\$	414,474.00			\$	368,360.00		•	\$	343,380.00	
	LS FA LS SY SY LF SY SY LF SY SY LF SY SY LS	LS 1 FA 1 LS 1 SY 3100 SY 2700 LF 464 SY 204 SY 320 SY 2700 LS 1	LS 1 \$ FA 1 \$ LS 1 \$ SY 3100 \$ SY 2700 \$ LF 464 \$ SY 204 \$ SY 320 \$ SY 2700 \$ LS 1 \$	UNIT ESTIMATED QUANTITY UNIT COST LS 1 \$ 23,400.00 FA 1 \$ 10,000.00 LS 1 \$ 72,400.00 SY 3100 \$ 4.30 SY 2700 \$ 62.50 LF 464 \$ 109.00 SY 204 \$ 116.00 SY 320 \$ 32.00 SY 2700 \$ 3.50 LS 1 \$ 11,500.00	UNIT ESTIMATED QUANTITY UNIT COST TO LS 1 \$ 23,400.00 \$ FA 1 \$ 10,000.00 \$ LS 1 \$ 72,400.00 \$ SY 3100 \$ 4.30 \$ SY 2700 \$ 62.50 \$ LF 464 \$ 109.00 \$ SY 204 \$ 116.00 \$ SY 320 \$ 32.00 \$ SY 2700 \$ 3.50 \$ LS 1 \$ 11,500.00 \$	LS 1 \$ 23,400.00 \$ 23,400.00 FA 1 \$ 10,000.00 \$ 10,000.00 LS 1 \$ 72,400.00 \$ 72,400.00 SY 3100 \$ 4.30 \$ 13,330.00 SY 2700 \$ 62.50 \$ 168,750.00 LF 464 \$ 109.00 \$ 50,576.00 SY 204 \$ 116.00 \$ 23,664.00 SY 320 \$ 32.00 \$ 10,240.00 SY 2700 \$ 3.50 \$ 9,450.00 LS 1 \$ 11,500.00 \$ 11,500.00 AC 1 \$ 4,700.00 \$ 4,700.00	UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT LS	UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT COST LS 1 \$ 23,400.00 \$ 23,400.00 \$ 80,000.00 FA 1 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 LS 1 \$ 72,400.00 \$ 72,400.00 \$ 63,000.00 SY 3100 \$ 4.30 \$ 13,330.00 \$ 8.00 SY 2700 \$ 62.50 \$ 168,750.00 \$ 45.00 LF 464 \$ 109.00 \$ 50,576.00 \$ 86.00 SY 204 \$ 116.00 \$ 23,664.00 \$ 105.00 SY 320 \$ 32.00 \$ 10,240.00 \$ 90.00 SY 2700 \$ 3.50 \$ 9,450.00 \$ 4.50 LS 1 \$ 11,500.00 \$ 11,500.00 \$ 9,000.00 AC 1 \$ 4,700.00 \$ 4,700.00 \$ 3,900.00	UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT COST TOTAL COST LS 1 \$ 23,400.00 \$ 23,400.00 \$ 80,000.00 \$ FA 1 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ LS 1 \$ 72,400.00 \$ 72,400.00 \$ 63,000.00 \$ SY 3100 \$ 4.30 \$ 13,330.00 \$ 8.00 \$ SY 2700 \$ 62.50 \$ 168,750.00 \$ 45.00 \$ LF 464 \$ 109.00 \$ 50,576.00 \$ 86.00 \$ SY 204 \$ 116.00 \$ 23,664.00 \$ 105.00 \$ SY 320 \$ 32.00 \$ 10,240.00 \$ 90.00 \$ SY 2700 \$ 3.50 \$ 9,450.00 \$ 4.50 \$ LS 1 \$ 11,500.00 \$ 11,500.00 \$ 3,900.00 \$ AC 1 \$ 4,700.00 \$ 4,700.00 \$ 3,900.00 \$	UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT COST TOTAL COST LS 1 \$ 23,400.00 \$ 23,400.00 \$ 80,000.00 \$ 80,000.00 FA 1 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 LS 1 \$ 72,400.00 \$ 72,400.00 \$ 63,000.00 \$ 63,000.00 SY 3100 \$ 4.30 \$ 13,330.00 \$ 8.00 \$ 24,800.00 SY 2700 \$ 62.50 \$ 168,750.00 \$ 45.00 \$ 121,500.00 LF 464 \$ 109.00 \$ 50,576.00 \$ 86.00 \$ 39,904.00 SY 204 \$ 116.00 \$ 23,664.00 \$ 105.00 \$ 21,420.00 SY 320 \$ 32.00 \$ 10,240.00 \$ 90.00 \$ 28,800.00 SY 2700 \$ 3.50 \$ 9,450.00 \$ 9,000.00 \$ 9,000.00 LS 1 \$ 11,500.00 \$ 4,700.00 \$ 3,900.00 \$ 3,900.00	UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT COST TOTAL COST U LS 1 \$ 23,400.00 \$ 23,400.00 \$ 80,000.	UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST LS 1 \$ 23,400.00 \$ 23,400.00 \$ 80,000.00 \$ 36,000.00 FA 1 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 LS 1 \$ 72,400.00 \$ 63,000.00 \$ 63,000.00 \$ 30,000.00 SY 3100 \$ 4.30 \$ 13,330.00 \$ 8.00 \$ 24,800.00 \$ 9.00 SY 2700 \$ 62.50 \$ 168,750.00 \$ 45.00 \$ 121,500.00 \$ 74.00 LF 464 \$ 109.00 \$ 50,576.00 \$ 86.00 \$ 39,904.00 \$ 60.00 SY 204 \$ 116.00 \$ 23,664.00 \$ 105.00 \$ 21,420.00 \$ 80.00 SY 320 \$ 32.00 \$ 10,240.00 \$ 90.00 \$ 28,800.00 \$ 20.00 SY 2700 \$ 3.50 \$ 9,450.00 \$ 9,000.00 \$ 9,000.00 \$ 2,800.00 LS 1 \$ 11,500.00 \$ 4,500 \$ 3,900.00	UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST TOTAL COST LS 1 \$ 23,400.00 \$ 23,400.00 \$ 80,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 10,000.00 \$	UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST TOTAL COST LS 1 \$ 23,400.00 \$ 23,400.00 \$ 80,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 30,000.00 \$	UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT COST TOTAL COST <td>UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT COST 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 48.00 \$ 10,000.00 \$ 48.00 <t< td=""><td>UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST</td></t<></td>	UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT COST 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 10,000.00 \$ 36,000.00 \$ 36,000.00 \$ 36,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 48.00 \$ 10,000.00 \$ 48.00 <t< td=""><td>UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST</td></t<>	UNIT ESTIMATED QUANTITY UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST	

\$ 414,574.00

NOTICE OF AWARD

TO: _	Brutil	l Const.	Dated:	February 13, 2024
	(Bidd	er)		
ADD	RESS:	6375 E. Yellowstone Hy	wy, Evansvil	le, Wyoming 82636
CON	TRACT	: City of Mills – Riverf	ront Stabiliz	ation
PROJ	јест: <u>I</u>	RIVERFRONT STABI	LIZATION	PROJECT
OWN	IER'S C	CONTRACT NO.: N/A		
been	conside		nt successful	2024 for the above Contract has bidder and have been awarded a N PROJECT
<i>Hund</i> _3 co Notic	dred For pies of e e of Aw	each of the proposed Co.	O Cents (\$25 ntract Docum	Hundred Fifty-Five Thousand, One 5,114.00) ments (except drawings) accompany this delivered separately or otherwise made
		mply with the following otice of Award, that is b		precedent within fifteen (15) days of the ary 28, 2024
	1.	-	•	counterparts of the Contract Documents must bear your signature on
	2.	Owner and the Engine	er as additio	ne Certificates of Insurance listing the nal insured; Worker's Compensation urance Coverage; Performance and

Failure to comply with these conditions within the time specified will entitle OWNER to consider your bid in default, to annul this Notice of Award.

Within ten days after you comply with the above conditions, OWNER will return to you one fully executed counterpart of the Contract Documents.

	City of Mills_
	(Owner)
By:	
3	(Leah Juarez)
	Mayor
	(Title)

Copy to ENGINEER (Use Certified Mail, Return Receipt Requested)